
M
in
.1
0
0

9
5

Concrete

 8
7
7
 

 Fall protection 30 95kg

Dat.: 16/04/2019
Montageanleitung
 

Instrucciones para el montaje
 

2 - 6 www.europlay.eu
fax.32.52.22 67 22
tel. 32.52.22 66 22
B-9200 DENDERMONDE

Edad / Età
Age / Alter 
Age group

ALTURA DE CAÍDA / ALTEZZA DI CADUTA
FALL HEIGHT / FALLHÖHE/

Istruzioni di installazione Page: 1/7

VEILIGHEIDSAFSTAND / ESPACE DE CHUTE / SAFETY AREA / 

VALHOOGTE / HAUTEUR DE CHUTE / 

Leeftijd
Eegene 9
EUROPLAY  nv

17m2

Rev.: -

H: 1.7m
Br: 0.6m
L: 1.7m

(BASIC)BF500

DIMENSIONI
DIMENSIONES
MASSE
DIMENSIONS
AFMETINGEN

SICHERHEITSABSTAND / ZONA DE SEGURIDAD / DISTANZA DI SICUREZZA

 

Montagehandleiding
 

Notice de montage
 

Assembling manual
ASSEPOESTER
CENDRILLON
ASCHENPUTTEL
CINDERELLA
CENCIENTA
CENERENTOLA

±15m2

 R
1
5
0
0
 

 R
1500 

 1
5
0
0
 

 R
1
5
0
0
 

 4633 

 1500 

 1
5
0
0
 

 R
1
5
0
0
 

 3
6
0
0
 

 1500 

Groundlevel



2x

800 x Ø100

F500-H-H-01

2.92kg

6
.0
0
k
g

2
x

F
5
0
0
-H
-V
-0
1

1
5
5
0
 x
 Ø

1
0
0

775 x 580 x 57

1x   F500-As-Vloer-01

5.29kg

1
x
  
 F
1
0
0
-A
s
-V
-0
4

3
.0
5
k
g

7
5
0
 x
 Ø

1
0
0

2x

1550,5 x Ø100

F100-H-H-02

5.67kg

6x   Ø100

150 x 150 x 95 1.53kg

895 x 580 x 57

1x   F500-As-Vloer-02

5.66kg

1x   F500-As-TrapVloer-01

3.37kg

2.73kg

2x F100-M-TrapLeun-01

1195 x 132 x 70

1x   F500-As-Trap-01

1000 x 222 x 430 11.49kg

6
.8
2
k
g

1
x
  
 F
5
0
0
-A
s
-V
-0
3

1
6
6
8
 x
 Ø

1
0
0

1
x
  
 F
5
0
0
-A
s
-V
-0
2

6
.1
8
k
g

1
6
0
0
 x
 Ø

1
0
0

445 x 400 x 57

Blue

Galvanized

Page: 2/7
 

 Montageanleitung - Instruzioni di installazione
Instrucciones para el montaje

Benodigdheden - Liste des pièces - Materials - Benötigtes - Accesorios - Requisiti

(BASIC)

Montagehandleiding - Notice de montage
 Assembling manual -F500B

Dat.: 16/04/2019



Page: 3/7(BASIC)
 

Benodigdheden - Liste des pièces - Materials - Benötigtes - Accesorios - Requisiti

Instrucciones para el montaje
 Montageanleitung - Instruzioni di installazione

Montagehandleiding - Notice de montage
 Assembling manual -F500B

Dat.: 16/04/2019

32x

12x

6x

M10x190

M10x130

M10x115

10x
10x M10

10x

M10

12x

M10

4x

16x

M10x50

Ø4,5x70

2x

Ø4,5x50

White



M
in
.1
0
0

9
5

Concrete

Page: 4/7(BASIC)
 Instrucciones para el montaje

 Montageanleitung - Instruzioni di installazione

Montagehandleiding - Notice de montage
 Assembling manual -F500B

Dat.: 11/04/2019

01

02

2x F100-H-V-04

1x F500-H-V-02

1x F500-As-V-03

2x F500-H-V-01

 R
1
5
0
0
 

 1
5
0
0
 

 4633 

 1
5
0
0
 

 1500 

 R
1
5
0
0
 

 R
1
5
0
0
 

 R
1
5
0
0
 

 3
6
0
0
 

 1500 

M10x190
10x

F100-As-V-04

2x
F500-H-H-01

2x

1x

F500-As-V-02

1x

F500-As-V-03

2x

F500-As-V-01

1x

F100-H-H-02



 1
5
3
 

1x

F500-As-Vloer-01

1x

F500-As-TrapVloer-01

1x

F500-As-Vloer-02

18x
Ø4,5x50

Ø4,5x70
12x

 2
9
0
,5
0
 

 1
0
 

 1
0
 

 400 

1x

F500-As-Trap-01

M10x130

03

04 4x

(BASIC)
 

 Montageanleitung - Instruzioni di installazione
Instrucciones para el montaje

Page: 5/7

Montagehandleiding - Notice de montage
 Assembling manual -F500B

Dat.: 11/04/2019



05

06

Page: 6/7(BASIC)
 Instrucciones para el montaje

 Montageanleitung - Instruzioni di installazione

Montagehandleiding - Notice de montage
 Assembling manual -F500B

Dat.: 11/04/2019

2x
F100-M-TrapLeun-01

M10x50
6x

M10x115
2x

Ø4,5x50
14x



Page: 7/7(BASIC)
 Instrucciones para el montaje

 Montageanleitung - Instruzioni di installazione

Montagehandleiding - Notice de montage
 Assembling manual -F500B

Dat.: 11/04/2019


